(1
ey

129,39

N=

1= 129,28

Pik = 5+830,20

i

[l
[l
-
=
[
[ el
——
=
=
(=]
-~
(@]

2k

127,78

N=

Pik = 5+/83,40
Skala 1:100/100

Pik = 5+739,30
Skala 1:100/100

127,64

I
/A
T

|
ek

125,94

N=

1= 185,77

Pik = 9+705,00
Skala 1:100/100

S~/
| P A
60'6c! R
89521 -y
Rl o Vs
M= Z
oo L HRIL ererL 082
T o AL
(/8 |
24
N g
&
%
e EGIE &R 00 =
- QR & NY‘
b RO g L S
6l ﬂ'w - Gl F [|8'3_ [~
=€ /
A - ol
-0y
i - R B
e el &
=l L] = -
ad ) (%) [} S =
Sl 23| 8zl 35
0 o = — N&2! £ S
_ = = = ) D —
o = = = [
a- [ N ) I ) | =
2| 2 & 5 x> €
o ¢
ST S
L S ¢+
- -y
- SR SV
s L S gL 082
AR e W g
S TE S f
s§
A v E waE m| N“ i
gm
%
ST s i
oL 98 e L Y] 2
YR @5 CAF §5|
ST -ol- NY‘ 1
om| ear S
= §
- L3 - A
S A
el I R e
ad - (o] [ —
— — = (a4 — S =
[ — Ll [ ] — ~
1 o == L =< =
[ [ Lol ~1 -+
- = = = (] D —
o_ = = =] L
a |l o ool | no<
=2l 2 &2 5 >~ £
o ¢
a0
- 9% S
- R e Vs
oL WAL gL 082
woa @ wwr
L
SV S L A S
L A
P L I V2
AR AT
- R e - o
-SRI
= | .| = -
g 222 .| 88
el el 3| B35
- = = = (] D —
o [===] (=] [===] Lol
a |l o ool | o no<
=l el 2 8 x <
o o
0 o
L6 - Bl E %’E
- -
(o S
L o L 6 Ly
WAL o @
o L ) T S
B 6T
-t B8 e
L A - ol
. - oRIE A
- -
-0 R
- 068
S s sl S
~ — = [ fa—
[ / [ (@S]
N [ > — \g
[ [ Lo ~1
| Bl &l & B
o [ BT g I T ) B
2|l =2 &2 5

(l
ey

126,46

N=

1= 126,36

Pik = 9+/727,20
Skala 1:100/100

PP. = 124,00

- E %S
o Ly
- Gl oy
S
- et U e 8
Lk
7/ S L S
A
vl 8t wal B
R Ay - G-
L g Loy
i - R E 6
L (92 L gy-
- EgE 09
= | =
(@] - (o] [
B 5| 5| o=
" o > — \g
[ [ [ ~1
- = = = o
o = = = )
o | & O = =
[ [ [ —
- A 66S
2] v
W12l .
W08 18 Lot
ol 6L gl 82
Wl e[ %lelF il =8
- @
aff
&
1 1 S 1 T
S S O BT
val 331 ol %
W08 18 - | =g
' e L -
W12l BRAF
121 - B -
- Y-
- - = —
— (o) [} S =
=E|l & &85 T o =
o_ ~ — N2 % =
= = = (] D —
= = &= Y9 nos
= 2| &2 5 <
o o
Lo b oo
s - 5
L% L9y
A L Lot
oL 6L gL 082
VA
O e S VT S . S
e
IS I ) e R v R
orLd oy T 080-
AL Lo
L g - 0L E Eg’tz
L Lo
-0 E 06
= .| .| =
(@] - (o) [
~  — = [ [—
[T —/ [ (@D ]
m o >~ — \g
L L L ~ 1
- = = = | |
o = = =) )
a | ]| M| = =
[ [ [ —
LA L
129 LG
0L T
%I F O -Gl
ol BRL oL 082
A
A R S
A
g b ER | g L Y
WoRIF oo - SERIT s
o9 L o Lo
dag [ S ot
- b Q-
A B
2| 5| &5 o
1" [ > — \g
[ [ L =~
- = = = [ }
oc = = = [
= &5 & g 8
[T [T [T —

28 33 |Be
a ¢ SSg £
=
g 0
) 2@
8 g
m
2 g
- ®
3 ]
TN -
g -
— =
2 |588 <
.. N E52 =
29 X o¢c (o]
X N w = = O
z f -5 'c 0 <
> g O wso o
" o x s [«
E © : ) g (o)
~g |S3E x
= L =
EQ |88 5
o |28 <
; Lot L 0L
0£8d1 082 il
£0'82l - 09
£9821 1 E£¥'8d VA
oo L 618d L eoor L 08:3
6982 - Yog 1 S8 %
Yl S
P90 998 Focvear - 000
- 908 - AT
oo L1983 | g L G
698d1 Grad %56 06e-
£9901 | E¥'8a - G-
I - 0op-
b Y
9552 - il
= ) | =
(@] - (o) [
~  — = [ [—
g2 g8lgl8
 — |
| 2l EE| =
a- — — = |
| ]| M| M| =&
o o o —




